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f(x)=(2+kx)3, |kx|<2, where k is a positive constant
The binomial expansion of f(x), in ascending powers of x, up to and including
the term in x2 is

A+ Bx + Exz

16

where 4 and B are constants.

(a) Write down the value of 4.

(D

(b) Find the value ofk.
3

(c) Find the value of B.
2
(Total 6 marks)
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1

Given that in the expansion of  (1+ .fUL‘)2 the coefficient of the x?term is 75, find

(a) the possible values of a,
(4 marks)

(b) the corresponding coefficients of the x* term.
(2 marks)

(Total 6 marks)



Question 3 (#)save myexams

Head to savemyexams.co.uk for more awesome resources

1 1 2
The first three terms in the binomial expansion of  (a +bx)* are 4 grrer e

(a) Find the values of @ and b.

(5 marks)
(b) State the range of values of x for which the expansion is valid.
(2 marks)
(c) Find the value of c.
(2 marks)

(Total 9 marks)
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1

Use the binomial theorem to expand (4 - 3x) 2, in ascending powers of x, up to and including the term

in x*. Give each coefficient as a simplified fraction.

(Total 5 marks)
Question 5

1 3
f@)=———— <3

\/(9+ 4x2)’

Find the first three non-zero terms of the binomial expansion of f (x) in ascending powers
of x. Give each coefficient as a simplified fraction.

(6)

(Total 6 marks)

)



Question 6 @SCIVG myexams

Head to savemyexams.co.uk for more awesome resources

Given that the binomial expansion of (1 + kx)™, | kx| <1, is
1—6x+Ax2+ ...

(a) find the value of the constant £, @

(b) find the value of the constant 4, giving your answer in its simplest form.

3

(Total 5 marks)



